

NAME: AMADI ACHINIKE SJ

Mat: 15/mits01/021

DEPT: PET. ENG.

23/10/2017

ENG 351 Ass III

1)

$$\text{Pf } y = e^{x^2 + n}$$

$$u = x^2 + n$$

$$\frac{du}{dn} = 2x + 1$$

$$y = e^u$$

$$\frac{dy}{du} = e^u$$

$$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx}$$

$$= e^u \times (2x + 1)$$

$$2x + 1 e^u \quad u = x^2 + n$$

$$\frac{dy}{dx} = 2x + 1 e^{x^2 + n}$$

$$\frac{d^2y}{dx^2} = 2e^{x^2 + n} + (2x + 1)(2x + 1)e^{x^2 + n}$$

$$= 2e^{x^2 + n} + 4x^2 + 4x + 1 e^{x^2 + n}$$

$$\frac{d^2y}{dx^2} = 2e^{x^2 + n} + 4x^2 + 4x + 1 e^{x^2 + n}$$

$$y'' = \frac{d^2y}{dx^2}$$

$$y' = \frac{dy}{dx}$$

$$y = e^{x^2 + n}$$

$$y'' = y'(2x + 1) + 2y$$

$$y'' = 2e^{x^2 + n} + 4x^2 + 4x + 1 e^{x^2 + n}$$

$$y' = (2x + 1) e^{x^2 + n} = (2x + 1)(2x + 1) e^{x^2 + n} = 4x^2 + 4x + 1 e^{x^2 + n}$$

$$2y = 2e^{x^2 + n}$$

$$y'(2x + 1) + 2y = 2e^{x^2 + n} + 4x^2 + 4x + 1 e^{x^2 + n} = 2e^{x^2 + n} + 4x^2 + 4x + 1 e^{x^2 + n}$$

$$y'' = y'(2x+1) + 2y$$

$\downarrow$   $\swarrow$   $\downarrow$   
 $w_1$   $w_2$   $w_3$

$w_1$

$$u = y'' \quad v = 1$$

$$u^n = y^{n+2} \quad v = 0$$

$$= y^{n+2} \cdot 1 + 0$$

$w_2$

$$u = y' \quad v = 2x+1$$

$$u^n = y^{n+1} \quad v' = 2$$

$$u^{n-1} = y^n \quad v = 0$$

$$= y^{n+1}(2x+1) + n(y^n) \cdot 2 + 0$$

$$= y^{n+1}(2x+1) + 2n(y^n)$$

$w_3$

$$u = y \quad v = 1$$

$$u^n = y^n \quad v' = 0$$

$$= 2[y^n - 1] + 0$$

$$= 2y^n$$

$$w_1 = w_2 + w_3$$

$$y^{n+1} = y^{n+1}(2x+1) + 2n(y^n) + 2y^n$$

$$= y^{n+1}(2x+1) + 2(n+1)y^n$$

2a) Using the Leibnitz theorem gives that  
 $y = x^3 e^{4x}$  determine  $y^{(5)}$   
 Solution

$$u = e^{4x} \quad v = x^3$$

$$y^{(5)} = \frac{u^{(5)}}{v} + 5u^4 v' + 10u^3 v'' + 10u^2 v^3 + 5u v^4 + \dots$$

$$= 4^5 e^{4x} \cdot x^3 + 5(4^4 e^{4x} \cdot 3x^2) + 10(4^3 e^{4x} \cdot 6x) + 5(4^2 e^{4x} \cdot 6)$$

$$= 1024 e^{4x} x^3 + 1280 e^{4x} 3x^2 + 640 e^{4x} \cdot 6x + 80 e^{4x} \cdot 6$$

$$= 1024 e^{4x} x^3 + 3840 e^{4x} x^2 + 3840 e^{4x} x + 480 e^{4x}$$

$$(iv) \quad x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$

$$w_1 \quad w_2 \quad w_3$$

$$w_1 + w_2 + w_3 = 0$$

for  $w_1$

$$u = y'' \quad v = x^2 x^2$$

$$u^n = y^{n+2} \quad v' = 2x$$

$$u^{n-1} = y^{n+1} \quad v'' = 2$$

$$= y^{n+2} (x^2) + n(y^{n+1}) 2x + n(n-1) y^n \cdot x = 0$$

$$2x^2 y^{n+2} + 2nx(y^{n+1}) + n(n-1)y^n$$

for  $w_2$

$$u = y' \quad w = x$$

$$u^n = y^{n+1} \quad w = 1$$

$$u^{n-1} = y^n \quad w'' = 0$$

$$= y^{n+1} \cdot x + n y^n \cdot 1$$

for  $w_3$

$$u = y \quad v = 1$$

$$u^n = y^n \quad v' = 0$$

$$= y^n \cdot 1$$

$$w_1 + w_2 + w_3 = 0$$

$$x^2 y^{n+2} + 2nx y^{n+1} + (n^2 - n) y^n + x y^{n+1} + n y^n \cdot x$$

$$x y^{n+2} + 2nx y^{n+1} + x y^{n+1} + n^2 y^n - n y^n + n y^n \cdot x$$

$$x^2 y^{n+2} + 2n+1 (x y^{n+1}) + (n^2 + 1) y^n$$